q T T
—

/5 Y2 TD Battery Box Parts List 9-22-2014

BUY LIST:

vV Alum Rivets for manual rivet gun 50+ (3/8 hat, 3/16 hole, 1.5" OAL.
Captive 1/4-20 nuts. (Have SS).

Lid Latch

Lid hinge 9 1/2"

vClamShell vent cover

vV 3/4" plastic bushing, threaded, with 2 plastic nuts. (I got 1/2")

v hole saw? 2" = diameter of vents

vV Aluminum Sheet metal for 5 sides

vAluminum Sheet metal for Lid (thicker)

V4 1/2 feet Alum Angle 3/4"x 3/4" x1/16"

X Channel for F sheet? Make L,R & Bottom 1" longer on 1 side. Bend.
v Die grinder for 1/4" collet. "Carbide Bit"

VBring cardboard

VBring 3 way corner.

vV 1/4"-20 bolts & nuts. Grade 8 or SS.

Qty Len Desc For where

4x 12" Angle Iron 1" Vertical edges

2Xx 91/4" Angle11/2" Bottom side edge

2x 151/2" Angle 11/2" Bottom F&B edges

X 151/2" Bar 1" x1/8" Top Front edge

X 151/2" Bar 11/2"x1/8 Top Back Edge

2Xx 91/4" Bar1"x 1/8" Top side edge

2x 91/4" Bar1"x 1/8" Bottom cross members

X 91/4" Bar 2"x 1/8" Bottom middle cross member
2x 15" Bar 1"x1 Diagonal support (anything ok)

10/1/14



1X 93/4" Bar1"x1/16"
1X 93/4" Angle 1" x1/16"
2x 151/2" Angle 1" x1/16"
1x 81/2" Square tube 1"
2x 361/2" Angle 2" x 1/8"
2x 19" Angle 2" x1/8"
2x 20" Angle 2" x1/8
Hinges:

9" for lid

v2-3" for Charge Controller

Lid left edge at hinge
Lid L&R side edges
Lid F&B edges
Battery hold down
Slider Tray

Slider Tray

Slider support

ALUMINUM Sheet Metal: (measure again after make box)

1x 91/8"x151/2" Bottom

X 91/2"x16" Lid (thicker)

2x 91/8"x113/4" Side panels

ox 113/4"x153/8" F&B panels

X 93/4" Alum Angle 1"x1 x1/16" Lid side edges
2x 16 1/4" Alum Angle 1"x1 1x 1/16" Lid F&B edges
Screws:

2x  machine screws removable front panel

4x  Nylock Wing nuts 1/4-20  front panel & Batt hold down
2x flat washers removable front panel

50x Rivets Alumn Lid & flat sides

2x  Nuts 1/4-20 Battery hold down Bottom

2x threaded rod 1/4-20 Battery hold down - Steel

4x  Washers 1/4" Battery hold down

Plywood:

3" x 10" 1/4" plywood  Charge controller

10/1/14



1x Rubber Mat 1/4" thick, 9" x 15 1/4" Floor

1x  Through wall bushing 3/4" solar wires in, power to TD out.

1x  through wall bushing ___ 0/0 battery cables out to inverter

1x  Clamshell cover for 2 wires.

1x  through bushing Dual 1/4" Roof. 2x solar wires

Vix 3/8" tubing/pipe, uv stabilized Roof. 2x solar wires
v 1x Vent WestMarine #226993 or similar

Rivets

Lid Latch

__Need hold down system for CC. (String? bungie? Zip tie? bolt? magnet?)
Tray Slides 300 lb, full extension 18", side mount. Like 3320-18.

10/1/14



Project Criteria:

Support & Protect battery (& Theft-resistant)
House battery & Charge Controller

Allow checking of battery water

Vented

Easy install/remove battery

Standard Battery Dimensions:

Name Length Width Height
Group 27 12" 6.7" 9.1"
Group 31 13" 6.8" 9.3"

Therefore: Group 31 is about 1 inch longer and 1/4 taller than a Group 27.
Can design box to allow for either battery to be used.

10/1/14



